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Proposition 1. Hierarchical ownership is incentive-incompatible with free democratic elections.

Model of Innovation and the Planned Economy (Ch. 2)

Population of N

Each agent endowed with one unit of labour

Total stock of capital is 
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Simple production function 
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, where x is capital invested into production

Function a is concave, twice differentiable 

Each agent owns 
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At time t agent m mutates, i.e. discovers new technology, new production function b(x), 
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 are the inframarginal returns to the innovator
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, Diameter of set N is D. S(m) neighbourhood of m. Neighbours can learn technology in period t+1. In period t+2 neighbourhood expands to 
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Proposition 2. Hierarchical ownership in an innovating economy with an isolated dictator is incentive-incompatible with a market allocation of the capital good.
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c(N-1), c’>0, c’’>0

f(N-1); f’>0, f’’<0, concave

B’f’[D(N-1)]=c’[D(N-1)], where B’>0 with B’’<0 is marginal benefit to Stalin from marginal increase in frequency of mutation

Model of Producer’s Behaviour under late planned economy (ch. 3)

y=f(I), f’>0, f’’<0, I is investment of capital

utility of agent (management of SOE) is 
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, X is amount of capital provided by planning authorities to SOE

constraint: f(I)=pX, i.e. the plan, 
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agent’s problem 
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 s.t. the constraints about X

if second constraint not binding, f’(I)=p

unofficial economy (parallel): q=X*-I* 

analysis: 
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